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m Ak A | 44,1 42,7]141,4] 96,8 64,5241,6) 92,6/359,2,786,61468,7 77,9 44.6(2,460,7 3268 9.30
By M b | 22,00 48,0/139.3) 77.9) 56.6]175,6 60,1]182,4552,8282,3| 76,2 63.51,731,7] 220,0/ 9,30
Z I mf | 16,0 32,6120,1) 68,3( 5751754 85,6109,0472,41259,1 4.4 47,31,487,7| 134.0) 9,29
A A mp | 215 85.2/125,1] 50,3 57.0(183,5 41,6[104,1555,5240,8( 44,1 45,011,503,7| 1878 9,30
A mA | 83.3 88.5173.6) 75.8 56,0[198,0[121,5135,2510,7/388.0 72,0) 28,6/1,776,2) 212,0 9,30
F % k16,9 34.5143.9 75,5 53.9/193,5 46,5805,31459,4/266,5 89,9| 40,0/1,450,3{ 123,0 9,30
A BFAy | 10,8) 85,0185,6 82,1| 65,9204,2(106,5(104,3/451,5276.0] 51,7| 89,9|1,563.5] 186.0 9,30
= B W7 | 118 83.1138.3] 51,5 54,5212,7 74,8 92,7313,5249,6| 43,8 89,6/1,510,4f 1950 9,30
39T | 16.4) 36.5/134.6] 55,8 59,0[184,9| 58,3 92,9(538,71237,1] 82,0/ 34,9/1,480,6] 192,0] 9.30
B M7 b 14,2 88.7[186,3 66,9) 60,2221,9) 48,4 63,41483,1|273,9 81,4 87,4{1,455.8] 112,01 9,30
25 BT | 18.4) 84,8/126,5| 62,3| 53.7|225,5) 46,4( 69,2152,8276,7| 29.1] 26,0(1,416,4] 1115 9,30
o] 9.1] 88.2112,1) 85,6 45,01223,6/106,11108,01492,1(276,5| 42,0 28,1/1,567,2f 1735 9,30
Ao @& Ay | 135 87,1/162,6) 87,5 53,5221,1) 78,1 71 4/406,8290.5 87,1 38,4/1,492.6] 98,0 9,29
i A A 91| 20812851 72,00 51,0226,9| 69,6/116,5/471,2333,9 38,9 30,911,578,3| 150.0| 9,29




